Class: 11 oo i

SECOND REVISION EXAMINATION 2025 .
THEMATICS

Time Allowed : 3 00 HOI"'S] akwaacaéemy blo Spot Com . [Max Marks : 90
INSTRUCTI(_)N : -1.Check the question paper for t‘alrness of printing. If there is any lack of

“10.

fairness; inform the Hall Supervisor immediately.
2, Use Blue or Black ink to write and underline and Pencil to draw dlagrams

: . Part-T' : e
Note (i) Answer All the questions. ' - 20x1=20
- - (ii) Choose the most suitable answer from the glven four a]ternatrves and wnte the option code and the
corresponding answer. :
If A {(x,y): y e*, xe R} and B={xy):y= e , XE R} then n (AnB) is
(@ o . ~(b)0 (c) 1 (d) 2
2.

The number of constant functions from a set containing ‘m’ elementsto a set containing 'n’ elements
is : : ' o i : s ) %]

(@) mn" (b)m ©n - (d)min
- The range of the function f(x) = |[x] -x|,xeRis: _
@01 - (0.0 ») -~ (c) [0,1) ‘ (d) (O, 1)
If a and b are the roots of the equatlon xz kx+16=0 and satisfy a2+b2-32 then thevalue ofkis :
@1 . (b)-8 (c) -8,8 (d) 6
o =72 4+ 1 thenthevalueofkis |
(x+2) (x-1) x+2 x-1 e, N .
@1 D)2 o e QY (d) 4
cos1°+cosZ°+cosB°+ . +c0s179° = . gy R
(@) 0 . (b)‘i & e (d). 89
If sma+cosa b, then sin2a is equal to: : '
" (a) b’-,lfbs*{_' e N (b) b21|fb>~l_
(©) b-1,ifb>1 . (d) b1,ifb>¥Z
The eé_efﬁcient of x®in the series e*is- =~ '
Gyl NG E A f w4
S 3 . 2; -15_-' '_/ 15
The Iength of the perpendlcular from the ongm to the lme Y= 1 is :
). VT e AN d)-__'5
o 12 3 : 12
If the lines represented by the equatlon 9x2-24xy+16y2-0 makes angles 9 and 0, with x-axis, then
e ;tanB tan 6,= e i _ : ; :
R LI (e A N i T o doe
[ 9 4 16 ‘
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11. IfAisa square matrix, then whlch of the followmg is not symmetrlc

12.

13.

14.

15.

-16.

(@) A+AT (b) AAT

(c) ATA

@ AAT

If a=7+ é\ 2, B | = 5 and the angle betWeen aand bis _™_then the area of the triangle

formed by these two vectors as two sides is :

7

a) A lpyedls
4. 4
The vectors ,I\-/j\/]\- RR-Tare:

(a) parallel to each other

+(c) mutually perpendicular vectors

lim V1 - cos2x
X-0 - X
(@ o (b)1

limord 102 o 3 4 e e
n_’m, nZ n2 nz nz ’

9 @x=

- dx

17.
18,

19..

20.

a) 3x*+(log3)3*.  b) x*+log3

| (c)V2 .

(b) unit vectors

(d) coplanar vectors
(d) does not exists

c) 1 d o

c) (Iog“) (3%) + 3x? d 3« Tx+ (Iog3)3"

The number of points in R in which the functlon f(x) =|x-1|+|x-3]+ sinx is not dlfferentlable is:
N (a) 3 (b)2 (c) 1 d) 4
The differentiate of y = |x-1] at x=1is: » 7 :
(a) 1 . (o)1 (90 (d) does not exist -
f(x) = x tan' x then find f (1) : R
SRR 0 ® oy A
2 4 Ll 4. Bl » 9
Find. lim sin2x
‘ : x-0 X
g b oy i 0 1. 40
PART-I|

Note (i) Answer any Seven questions.

21.

(ii) Question No.30 is combulsofy. ;
If f: [-2i2]

7X2= 14

- Bis given by f(5() = 2x3, then find B so that fis onto,
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(22 +x-5 i xe(— =, 0)

x? -2 i xe(3, @)

g if xe(02)
o 3 otherwise

22. Write the values of fat-3and 0if :  f(x) = -

23. Find the expansion of __|
(2 +x)*

where |x| < 2 upto the fourth term.

24. Find the combined equation of the straight lines whose separate equatnons are x-2y=0 and 2x+y 0.
What can you say about the two lines ?

bA o 3

25. Find b if the matrix 3 1 2| issingular
| 1 2 4 | ;
26. Find the sum A- B + Cif A= "[SEC’B s‘”_’e] B= [‘a-“’e geosit ]C= [0 N ] .
: cot?9 O cosec?® -1 . 1 0

27 Find the denvatlve of sin"'(3x-4x%).
28. Show that lim- L_(x+2) =gt

- X © xX-2
29 Show that f(x)-\H x? is contlnuous on[-1;1].
30 Find f (2) andf’(4) tff(x) [x-3] .

b PART -1l :

‘ Note * (i) Answer any seven questions. : . | ' ‘ 7X3= 21

(i) Question No 40 is compulsory and choose any nine from the remalnlng
31. If f RoRis defned as f(x)=2x%1, find the pre-images of 17, 4 and -2.
32. Find the domainof = _1 . -~ 5
' y "1-2 sin x o, S
33. If P, = 720 and "C_= 120 find n, © |
34.1fa, a, a, ..., a is an arithmetic progress:on prove that every term a, (k> 1) is the arithmetic

. mean of its |mmed|ate predecessor a, and |mmed|ate successor a,

35. The length of the perpendlcular drawn from the origin to the Ilne is 12 and makes an angle 150°W|th
' the positive direction of the x-axis. Find the equation of the line

36. F|nd the vectors of magnltude 10 *J_ 3that are perpendlcular to the plane WhICh contams i+ 2] +K and
| +3] j+4a Q | 3

37. Does the I|m|t for the functlon Sin x| exists when x - 0. State reasons for your answer.
38 Ify sin'x + cos*x find 9Y_ dy
‘ ; - dx
e : )
A _ _ : ) SHRE )
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39.

Y

Inthe set Z of integers, define mRn if m-n is a multiple of 12. Prove that Risan equivalence relation.

40. Solve Y3 sinx+cosx=2

41.

42.

43,

PART -1V

Note (i) Answer All the qaestlo S , _ . TX5=35
akwaacademy.blogspot.com . -
(a) Let f,g:R - Ris defined as f(x) = 2x- |x| and g(x) =2x + |x| find fog oy ~(or) |
-
(b) Solve: R = <
- x%2-2x-15
(@) If A+B+C = _™_prove that sin2A+sin2B+sin2C=4cosAcosBcosC (O
(b) Ina A ABC, prove that srn(B C) b-C (cos _é_
t 2 B T2 g
(a) By theprinciple of mathematical induction, prove that , for n > 1. g1
19+ 29433 +...’.+Vn= - (n(n+'1))2 LR N . i (Or)
1 2 i - . o2 L & . 2

45.
4B,

47,

(b) Show that the equatlon 4x?+4xy+y? -6x—3y—4 =0 represents a parr of parallel lines.. Flnd the distance
between them.

)

b+c a a?

."(ra) Show that | c+a Lb b?| = (a-b) (b-c) (c-a) (a+f§+c): s -~ (or)

atb ¢ ¢
(b) Prove using vectors that the medians of a triangle are:conc.urrent
(-1

(a) Show thatthe function{ x-1 i %ol g (O)

is contmuous on (-o, oo)
3 if x=1.

.(b) fy= & B show that (14x2)y” +(2x-1)y 0.

(a) Prove that ~Jx2+25 *!x1+9 -8 __nearly whenxrs |arge L S P e "(»Or)
(b) E\_I.aluate.-: lim . AT+ -
X—)O ' "x : : | .
(@) F:nd the cosine and sine ang[e between the vectors a = 2/|\+/j\ +3Kand B= =4i- 2f+ A< B
. (on) ' » L
. (b) thferentlate srn(ax2+bx+c) wrth respect to C°S(|x2+mx+n) . , :
T 3
N
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